Math 107 – Quiz #10 (Sections 3.6 – 4.1) 
Name ______________________________

Show work to receive credit!

1.
Find the slope – intercept equation for each line:


a.
The line with slope 5 and y-intercept 
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equation:______________________


b.
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equation:______________________


c.
the line through the points (1, 2) and (3, -2)




equation:______________________


d.
the line with x-intercept 5 and y-intercept 3



equation:______________________


e.
the line whose graph is shown.




equation:______________________
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2.
Graph the solution to the inequality 
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3.
Find the solution to the system whose graph is shown:







Solution:  __________

4.
Solve the system of linear equations y graphing. 
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Solution:  __________
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